. VCE & PDF https://www.pass4itsure.com/c7010-010.html
g 2024 Latest passditsure C7010-010 PDF and VCE dumps Download

PassditSure.com

C7010-01095%As

IBM Curam V6.0.4 Application Development

Pass IBM C7010-010 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c7010-010.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C7010-010 Dumps | C7010-010 Exam Questions | C7010-010 Braindumps 1/7


https://www.pass4itsure.com/c7010-010.html
https://www.pass4itsure.com/c7010-010.html
https://www.pass4itsure.com/c7010-010.html

. VCE & PDF https://www.pass4itsure.com/c7010-010.html
E 2024 Latest passditsure C7010-010 PDF and VCE dumps Download
PassditSure.com

QUESTION 1

The Curam page shown here is configured to allow the developer to identify which action control was selected when the
user clicks either button.

Yes ND

Which of the following pieces of UIM could be used to do this?
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A

<?xml wersion="1.0" encoding="UTF-8"72>
<PAGE PAGE ID="DersonDemo agres"
xmlns:xsi="http: Awvww. wi. opg 2001 A XMLE chema—-1instance”
¥31:noMamespacedchemalocation="Ff1le: //Curam/ TIMS chema. xsd™>

<PAGE TITLE>
< CONNECT>
<30URCE NAME="TEXT'" PROFERTY="PageTitle.StaticText" >
</ CONNECT>
<HPAGE_TITLE>

<SERVER INTERFALCE OPERATION="checkdgreement" CLASS="MaintzinPerson"
NAME="CheckAgreementBean"” PHASE="ACTION™ ACTION ID PROPERTV="selection"/>

<CLUSTER TITLE="Cluster.Title.Agreement ">
CACTICN SET TOP="false” LLIGNMENT="CENTER'">
CACTION CONTROL LABEL="ActionControl.Label.Yes"
TYPE="SUBMIT" RCTICN ID="selection"/»
SACTION CONTROL LABEL="ActionControl.Label.No"
TYFE="SUBMIT" ARCTICN ID="selection"/»
CACTION CONTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT" ACTION ID="selection"/»
</ACTION JET>
</ CLUSTER>

</PLGE>
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R
L3xml wersion="i1.0" encoding="UTrF-8"7>
<PAGE PAGE ID="PersonDemo agres”
xmlns:xsi="kttp: Awww. wi. orgd 2001 /XML chema—1instance™
¥Zi:noNamespacedchemalocation="file: / Curam/ TIMS chema. xad -
<PAGE TITLE>
<CONMNECT:=
<30URCE NAME="TEXT'™ FPROFERTY="FageTitle.StaticText"/ >
</ CONNECT >
<fPAGE_TITLE>
<3SERVER INTERFACE OPERATION="checkAgreement" CLAZ3="MaintainPerson"
NAME="CheckAgreamentBean" PHAZE="ACTION™ ACTION_ID_PROPERTY="selection"f>
SCLUSTER TITLE="Cluster.Title.Agreement™
<ACTION SET TOP="false"™ ALIGNMENT="CENTER™:
<ACTION CONTROL LABEL="ActionControl.Label.¥es"
TYPE="SUBMIT"™ ACTION_ID="&gree"f>
<ACTION CONTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT™ ACTION_ID="disagree"f>
{fACTION_SET>
</ CLUSTER>
</ PLGE>
oo

<2?xml version="1.0" encoding="UTF-8"7>

<PAGE PAGE TD="DersonDemo agree"
mmlns:xsi="kttp: Awww. Wi, org/ 2001 /A XML S chema-1instance™
¥gi:noNamespaceichemalocation="file:  / Curam TIMSchema. xs5d">

<PAGE TITLE>
CCONNECT=
CFOURCE NAMNE="TEXT™ FPROFERTY="PageTitle.StaticText" />
</ CONNECT>
<HPAGE_TITLE>

<SERVER INTERFACE OPERATICN="checkAgreament" CLASS="MaintainPerson'
NAME="CheckAgreacmentBean™ PHASE="ACTION" />

CCLUTSTER TITLE="Cluster.Title.Agreement':
<ACTION 3ET TOP="f&lse" ALIGNMENT="CENTER">
SACTION CONTROL LABEL="ActionControl.Label.Yes"
TYPE="SUBMIT" LCTICN ID="agree"/:>
SACTION CONTROL LABEL="Actionlontrol.Label.No"
TYPE="SUBMIT" ACTICN ID="disagree"/>
</ ACTION ZET>
</ CLUSTER>

</ PAGE>
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<?xml wersion="1.0" encoding="UTF-8"2>

<PAGE PAGE ID="Personlemo agres"
xmilnsixwsi="hittp: Suvww. w3l opg/ 2001 AMLE chema—-ins tance™
xzirnolNamespaceSchemalocation="file:  / Curamn/TIMS chema. xad">

<PAGE TITLE>
CCONNECT=
<SOURCE NAME="TEXT" PROPERTY="PageTitle.StaticText™ >
</ CONNECT>
</PAGE TITLE>

<SERVER INTERFACE OPERATICN="checkAgreement" CLLSS="MzintainPerson"
WAFE="CheckAgraaementBean" PHASE="ACTTON" ACTION ID PROPERTY="Yas s
<3ERVER TWTERFACE QFERATION="checkAgreement" CLASS="MaintainPerson™
NAME="CkeckAgreamentBean" PHAZE="ACTION"™ ACTICH IL PROFPERTY="No'"/:

CCLUSTER TITLE="Cluster.Title.Agreement":
<ACTICN SET TOP="false" ALIGNMENT="CENTER">
<RCTICON CONTEOL LABEL="ActionControl.Label.¥es"
TYPE="SUBMIT" ACTION ID="agres"/>
<ACTION COMNTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT" ACTICN ID="diszgres" />
</ACTION SET=
</ CLUSTER>

</PLGE>

A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Correct Answer: B

QUESTION 2

Which of the following statements about aggregation in Clram are correct? Which of the following statements about
aggregation in Caram are correct?

A. An entity may aggregate another entity.
B. A struct may aggregate an entity.

C. A struct may aggregate another struct.
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D. An entity may aggregate a struct.

Correct Answer: BC

QUESTION 3

Which of the following statements about the different approaches to generating unique IDs are true?

A. A dedicated BPO should be used to generate readable keys.

B. A programmatic or model-based approach can be used when the key needs to be returned for further processing.
C. The model-based approach should be used to generate keys from the Default KeySet.

D. The model-based approach reduces the chance of key conflict.

E. A key set must be specified when using the programmatic approach.

Correct Answer: BD

QUESTION 4

Examine the following piece of code:

package serverworkshop. impl;
import ssrverworkshop. struct
import curam. util exception. *;
public ab=stract class MaintainPer=son
extends serverwvorkshop. intf MaintainFerson {
public void insertPerzon({MaintainPerzonlDetails dtls) throws AppException, In
FPerzonltls personltls = new PerzonDtls();
serverworkshop. intf Person personlb; = serverworkshop. fact PersonFactory. ne
personltls concernBolelD = dtls. concernBEolelD;
personltls. firstName = dtls. firstHamne:
perzonlDtl=s. lastHame = dtls. lastHames;
personltls . title = dtls title;
perszonltls gender = dtls.gender;

perszonltls datelfBirth = dtls . datelfBirth;

perzonCb] . insert (personltls)

Which of the following statements about this piece of code is true?

A. It does not compile because an import statement is missing
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B. It does not compile because the PersonDtls object must be obtained from a factory class
C. It does not compile because the MaintainPerson should not extend the class serverworkshop.intf.MaintainPerson
D. It compiles without errors

Correct Answer: C

QUESTION 5

Which two of the following statements about VIM files are true? [Select 2]
A. They contain common fragments of UIM pages for reuse

B. They require corresponding properties files

C. They can contain any of the UIM elements supported by a UIM file

D. They must contain a PAGE_ID element

Correct Answer:. AB
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